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Peumre ypasuenne.
1. logx =3 7. logalogsx = 1
2. logsx = -1 8. logslogylogsx = 0
3. logs(2x) = | 9. logslogax® = 2
4. logx=0 : 10.lgx=2-1g5
5. logx(-x) =-3 11, Igx ~ 1g11 =1g19-1g(30-x)

6.1g(x~ 1) =0
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12. log, 10

=log,
5 s

13. logs(x® — 4x + 3) = logs(3x + 21)

14.10g2(9-29=3-x

15. logs(x - 2) + logsx = loga8
16.1g(x - 9) + 2g2x ~1=2

17.log, 9 =2

=1
18. log‘logzlogﬁx =3

19. loglx + 3 =2log,x*

20, Ig’%° ~ 10lgx + 1 =0
21loga(x + 3)— logu(x —1) =
=2 -log.8

32. x

22.0,51g(2x - 1) +1gyx -9 =1

23.1g(x + 6) ~~;—lg(2x -3)=
=2-1g25

41 4 _
25 hg T Telgx

25. 2ogox +log ;X + log x=9
2

26. logsx +logex + logzrx = 5.5

27. 2logylogx +

+log log,(2V2x)=1

2

28.10g,2 + logix =2,5
29. logix3 -10g1s2=0,5
30. loge(x* 3x+ 1) =1
31 x"¥ = 100x

log x + 2

8




